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Factor each trinomial, if possible. If the trinomial cannot be factored uging infegers, write

prime.
21. y* + 19y + 97
24, 2* + 2x — 15
27. m* —m - 20
3. ¢* + 3+ 6
33, rt - 10r — 24
36. n* + 12n — 45
39. b* - i1b + 28
42, 36 + 15a + o
45. o' - 18¢ - 40
48, y' - Ty ~ 30
5. m* -~ 6m — 55
54. 64 —~ 16¢ + ¢*
B7. ¢ - 2¢ed ~ &d?
60, n* + 4an ~ 32¢°
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Written Fxercises

Factor each trinomial, if possible. If the trinomial cannot be

ne,
3P By + 5
18, 3a® + 14a + 15
21. 2h* — h ~ 3
"2@ 3m*—Tm —~ 8
27, 2a® + 3¢ — 14

2x* 4 Hx — 12 29 Gt* 4+ Bt — 6

30. 7n® ~ 22n + 3 31, 2% — 5y + 3 ; 3 3xt & 4 — 15
33. 2¢% - 4g — 18 34, 6y — Yy + 4 35. 6m? + 19m + 10
86 4y — 1Ty — 15 37, 6x* — 19x — 11 88. 10n® ~ i9n + 7
39, 12 - 11r + 3 400 9k? — 12k + 4 41, 8p* - 18p + 9
42. 5b% ~ 13b ~ 10 43, 15p° + 1dp — 8 {d4. 3t* — 32 + 20
45, 6y* — 19y + 15 46. 10k — 11k — 6 47, 657 + Ts ~ 20
8. 1207 + 17b + 6 49. 18x + BBx + 95 50. 16m! + 1dm ~ 15
51, 18:* + 41c — 10 ~.)2. 15y* + 17y — 18 53. 18r% - 19r -- 12
B4, 15x° — 18xy + 2* 55. 8m® — 14mn + 3n? oﬁ. 3§ — 10st -~ 842
B7. 16x* ~ 16xy ~ 5y? 58, 16a* — 38ab — 542 69. 20p* + 1lpg — 4¢°
[60. 26 + 255 + 657 G1. 9k + 30km + 25m? 62. 36a* + 9ab — 10b*
63. 20s% + 17st — 244 64, 3x — 30xy - 56y 65. 82 ~ d42xq + 27¢?
66. 127* — 16rs — 11s* 67, Mc* + dled + 1542 68, 215 + B2y + 32"
69. 30a% + 47a ~ 88 70. 99a* + 93 ~ 42 Ti. 24y + 93y + 6
72, 6 + 290 + 35b 78. 2 - 21y + 27y 74, 100 ~ 100x + 21x?
75, 48a* - 26ab + 3b* 76, 24x* — 6lxy + 35y! 77, 10a® ~ 34ab + 277
78. 6a* + 13a® + Ba. 79. 40x' — 1162 + Bdx? B0, 165" + 4y* ~ 6y
81, 60" — 65£% ~ 704 82. 12m'n - 22mn? - 1ddmn® 83, 20a'b — 5Iab + 494203

22, o + 22 + 21 28. ¢+ 2~ 3
25, ¥ — 8y + 15 26, a* ~ 19a + 35
28, x* - Bx — 94 29, h* + 5h + 8
a1, z2* - 10z — 389 32, y* — Ty + 60
34. 32 — 9y — 38 35. 32 4 8y — 20
37, pt+ 10p + 25 38. £+ 15g + 26
40, x* - 9x + {4 41. 16 + 16m + m?
43, y* + 11y + 98 44, x* + 14x + 33
46. b* + 136 — 30 47, x* — 3x ~ 18
49, 36 — 16m + m? 50, 36 — 13y + y?
52. k* — 3h - 108 53. 66 - 17/ + j*
55, 42 — 28a + o BG. B0 — Tx + ?
58, x? — 4xy — By? 59. ¢* + 2ab - 3b*
61, (@ + D) — Bla+ &) -6 B2 (c+q) —~8lc+g)~ 9
S

16 Ta? +
19. &m?
2%, 3y 4

25. 6p* — p — 2

28.

99 + 3 17,
- 10m + 8 20‘ 2y

factored using integers write

3t + 8x 4+ 4

— Ty + 3

t v \3}3? + Y}L - ('J
L 4b? o+ 5b - 6



